Assets = Liabilities + Capital
578,000 152,000
25,000 180,500
127,000 17,000
269,000 45,000
850,000 675,000
250,000 657,450

I. Complete the missing amounts in fundamental accounting equation for
several businesses:

Assets | = Liabilities | + Owner’s Equity
578,000 152,000
25,000 180,500
127,000 | 17,000
269,000 | 45,000
850,000 675,000
250,000 657,450

Compute the missing amounts in the following table:

Assets Liabilities | + | Owners' Equity
a. | $635,000 $342,000 ?
b.|? 562,500 $610,000
. 1307,500 ? 187,200




a.
b.

C.

2 a0 on

Assets = Liabilities + Owner’s Equity

$90.,000 $50,000 7
? $44.000 $70,000
$94.000 ? $53,000
Assets = Liabilities + Owner’s Equity
X = §556,000 4+  $3,374,000
$6,111,200 — X +  $5,725,000
$2,150,000 — 5812500 4 X
ASSETS LIABILITIES OWNER'S EQUITY
$34000 = $29,000 + ?
$21,500 = ? + $173,000
? = $36,000 + $14,000
$15976 = ? + $9,425
? = $13,678 + $7,322
Assets Liabilities Shareholders’ Equuty
? $181,000 $212,000
$74,800 4 536,200
$30,000 $21,400 7

$25,000 7 {$B,Eﬂdl*



